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Alex Feinstein

The Administrative and Regulatory State
I. Basic Agency Framework

A. Creation of Agencies

1. Created by Congress to specialize in a certain area of (usually commerce)

2. Statute tells agencies how to operate

3. Reasons for creating agencies

a. Idea of efficiency

b. Creation of expertise (ie scientific knowledge)

c. Alleviate pressures on Congress

i. Potential problem: lack of accountability – Congress can pass to an agency to avoid pressure from constituents / special interests

B. History of Agencies

1. Early history and common law

a. Not much federal governance beyond agriculture and foreign affairs

b. Let parties in dispute sue each other in tort

c. FTC created in 1914 to deal with corporate trusts

i. Brandeis was an architect of consumer laws
ii. Reason: unclear how Sherman act was to be interpreted; business and consumers wanted more regulation so they knew where they stood

2. The New Deal

a. Shift to the idea that government should be involved

i. State just letting everyone sue each other isn’t really neutral – it was just protecting nobody

b. James Landis (SEC fame) – said administrators:

i. Barely ever read the statute they’re supposed to be enforcing

ii. Need a broad mandate because they need to decide on a case by case basis what’s best

iii. Supposed to be apolitical experts that have expertise in what they do

1. Should be minimal judicial oversight

2. FDR devises court packing plan because courts were too aggressively interfering with his agencies

3. The 1950’s: concern that agencies are not so apolitical
a. Industry capture: will agencies make decisions to avoid being hassled by industries
b. Lot of info agencies receive come from the industry – the industry can color what the agencies see

c. Sometimes people who work for the agency or in the industry will go back and forth in their employment between the two and become empathetic

d. Idea: judicial supervision to ensure agencies are working in the public interest 

4. Rights revolutions of the 60’s and 70’s

a. Civil rights and poverty

b. Safety regulations – ie clean air and water

5. Deregulation of the Reagan years

a. Pro: CBA to compensate for government inefficiency
b. Con: Agencies too captured by special interests

c. Consistent through Clinton years – only regulate when necessary

II. Overview of Regulation
A. Reasons for Regulation
1. Market failure (concern with monopoly, incomplete information, concern with collective action, ie free riders)

2. Externalities – government can help parties to fully internalize costs and benefits of a transaction

a. Coase theorem – if you let private parties bargain, they will reach the efficient solution

i. Problem: difficult to apply (ie, how could a polluting plant and a whole town bargain with each other)

b. There could be positive externalities

i. Example: if you put more people on an affordable phone network, it will benefit everybody

3. Notions of equality and wealth (redistribution)

a. Things like welfare, food and farm subsidies, etc.

b. These also involve notions of market failure

4. Civic Virtue – the purpose of government

5. Paternalism

6. Note: Even libertarians would approve of 1 and 2 above

B. Costs of Regulation / Alternatives
1. Reduction of incentives to do things (theory: people should reap the benefits of their investments)
2. There are several ways to regulate

a. Bans, taxes, warnings, etc.

b. Example of alternative regulation: FCC regulated public radio indirectly for a long time

i. Ask who was owning the station

ii. What their interests were, were they financially solvent, etc.

iii. Idea was to create diversity in ownership

III. Theories of Statutory Interpretation
A. Formalist Theory

1. Apply the language of a statue (judge should be honest agent of the statute)

2. Advantages of formalism

a. Insulate judges from political pressures

b. Predictability and certainty in the law

c. Give legislature incentive to enact laws

d. Judges are not elected lawmakers; legislators are

e. Legislators have special resources, there are more of them, they have a group dynamic, they are politically responsive to the electorate

3. Disadvantages of formalism

a. Take away from judicial discretion – there may be things unanticipated by the legislature

b. Concern that it is impossible to be a pure formalist

i. If that’s the case, have it out in the open

c. Statutes could potentially be influenced by special interests and not entirely justice

B. Legal Process Theory

1. Theory: determine the intent of a statute

a. Problem: not always easy to determine
b. Assumption: legislators are acting in public’s best interest

2. Critical Legal Studies attack on legal process

a. Concern is what we should do about interests being taken into account when making laws

b. Cynical about who legislators are and what their interests really are

c. Criticism: these people point out problems but don’t offer solutions

C. Interpreting Legislative Inaction

1. If a decision happened a long time ago but no legislative response

a. Side arguing against it: 

i. Times have changed

ii. We don’t know why legislature didn’t react; they may just not be aware there’s a problem

b. Side arguing to keep the decision:

i. Legislature has seen the decision and chose not to respond
2. Congress did not respond to USW v. Weber decision

a. Johnson v. Santa Clara Transport: inactions shows Weber court was correct

b. Scalia in dissent: inaction was a result of interest group pressure; it shows nothing 

3. Three Ways in Which Legislative Inaction Can be Meaningful

a. Agency/court has done something and Congress hasn’t

i. Theory: Congress must have known; the no response tells us something

ii. Weakest possible acquiescence argument

b. Re-enactment rule: If Congress re-appropriates / amends and doesn’t change language, Courts are more willing to assume Congress intended the language to remain

i. Very persuasive evidence

ii. Counter: Congress meant to include all the other language, but not this particular part

c. Congress takes a vote but it doesn’t get enacted

i. Pretty reliable and persuasive

IV. The Legal Process

A. Sources of Ideas for Legislation

1. The President

2. Public outcry and/or special interest groups

3. Requests of attorney general or agencies

4. Big events / media push

5. Pushing by judicial opinions

6. Legislators own ideas or piggybacking on ideas of states/municipalities

B. The Role of Committees

1. Allow certain legislators to specialize in certain things

2. Committee chair has the power to kill a bill

a. Necessary power to filter out proposed bill (too many are proposed to actually handle)

3. Legislators want to be on committees that affect their constituents
a. Good: They care about these issues

b. Danger: May be captured by constituents or special interests

c. Ideally: we want to look at who is on a committee, how much monitoring there is, and how much the body as a whole can examine what is going on

4. Who reads committee reports

a. Senators’ staffs

b. Public interest groups

c. Agencies

d. Judicial Clerks

5. Purpose of Hearings

a. Figure out what legislation is meritorious and what isn’t

b. Good barometer of what people think about the issue

c. Public pressures of television

d. Lean on expert testimony to legitimize positions

C. Blocking Legislation (Vetogates)
1. Available tools

a. Senate filibusters

b. Alliance building / vote trading / negotiation

c. Introduce a killer amendment

d. Use the media to get support

e. Call unfavorable witnesses at a hearing

i. Influence the history of the bill to change peoples minds or

ii. Have favorable legislative history if the bill gets passed

2. Generally easier to block legislation in the Senate

a. More of a slow deliberative body

b. Availability of filibuster

3. Reasons for allowing it to be easy to block legislation in the Senate:

a. House district system is to a degree more about localized interests

b. Senate: allows a balance of power between small and large states
4. Congress is very de-centralized

a. Committees and subcommittees are crucial

b. Committee reports are important because committees have an awful lot of power

D. Consequences of Vetogates

1. Procedures end up working against clarity

a. There are a lot of compromises and vote trading along the way

b. Tough decisions may be punted to courts or agencies

2. Bills will be hard to enact

a. Might be harder for Congress to react to urgent problems

b. Laws will look different than they would if there was a streamlined process

3. Statutes are written to last 

a. Tough to go back and amend them

b. Poses the question of dynamic interpretation for Courts

i. One idea: judges respect vetogates because they have stabilizing function

ii. Or it could mean that Courts should be partners in the enterprise of updating statutes and fulfill the purposes of some members of the legislative body

4. Arrow’s Theorem

a. Agenda setter can structure votes so the winning result is ultimately not what most legislators want in their constituents best interests

b. Controlling the order of votes can lead to a result with least social utility

c. May not be the best piece of legislation you can have, but it’s the best given the voting process that you had and the way things progressed

E. United Steel Workers v. Weber – white workers lose discrimination suit over employment preferences for black workers
1. Differing philosophies of judicial interpretation

a. Brennan: Help legislature enact what he thinks their policies and intents are

i. Purpose argument: civil rights act was for the purpose of helping disenfranchised black people

b. Rehnquist: Enforce the bargains struck by the elected legislature

c. Blackmun: safety valve – if a Court misinterprets a statute, Congress can fix it

2. Example of lack of clarity

a. “Discrimination” was not clearly defined in Civil Rights Act

i. Tough to do, and legislation was hard enough to pass as it turned out

b. Bill supporters said this wouldn’t happen

i. Possible they said it just to get the bill passed

F. Theories of Judicial Activism

1. If we know its hard to overrule the Court:

a. Judge shouldn’t be overly active because he doesn’t want to incorrectly interpret something Congress wanted, OR

b. Judge may feel he is there to help Congress achieve its intended aims

i. Take a more active approach in disambiguating statutory ambiguities

V. Public Choice Model

A. Overview of public choice theory

1. Apply economic models to political decision making

2. Politicians and voters: considered rational utility maximizers operating in competitive electoral market

3. Actual political choices are determined by the efforts of individuals and groups to further their own interests

4. Possible reasons for formation of interest groups

a. Minority groups who wanted to be represented

b. Personal Benefit

c. Altruism

5. Most likely to get laws with CB and DC (as opposed to CC and DB)

a. Concentrated costs: easy to identify which groups are being targeted

i. They will mobilize against the legislation

ii. Human behavior: people hate losing things

iii. It’s much easier to block legislation that to pass it

B. Public Choice Theory: Bad Incentives for Legislatures

1. Often decide to do nothing: avoid making certain groups angry

2. Draft with ambiguity: don’t make it obvious to certain groups they’re bearing the costs

3. Pass the buck to an agency

a. Ability to say to an interest group “I didn’t know that’s what would happen, blame the agency”

4. Look out for benefits to their own constituents when nobody else will notice the costs have been distributed to them

C. Questionable Accuracy of Public Choice Theory

1. Can’t really explain why certain groups form or why people vote

2. Doesn’t explain that legislators are more complicated than just seeking re-election

a. Legislators care about reputation and ideas

b. Respond to more than just money and interest groups

3. Doesn’t normatively say if any piece of legislation is good or bad

4. Not all interest group activity is a bad thing

D. Implications for Courts

1. Enforce the deals that have been made on Capitol Hill, OR

2. Understand how the process works and try to interpret the laws liberally to further the goals of the law

3. Another idea: protect people with little influence

E. Demand Table for Legislation (text page 57)
	I. Distributed Benefits/ Distributed Costs

Majoritarian politics – little activity on either side

Example: general tax for public goods
	II. Distributed benefits/ concentrated costs

Those bearing the cost are likely to mobilize against the law

Example: property taxes for schools

	III. Concentrated benefits / distributed costs

Strong interest group support. Little if any organized opposition because of free rider problem. No material benefit to individuals for change in policy.
Example: farm subsidies
	IV. Concentrated benefits/ concentrated costs
Interest group politics. Only a small set will benefit but only a small set will pay for it.

Example: labor/management conflicts (the Johnson and Weber plaintiffs)


C. Threshold of Clarity to Look at Legislative History
1. Characterization of legislation is important to how narrowly/ broadly it will be construed

2. Almost any law can be characterized in any of these ways

VII. Theories of Statutory Interpretation in Action

A. The “funnel” of Theories: from most concrete to most abstract

1. Statutory Text (Start here)

2. Specific & general legislative history

3. Legislative Purpose

4. Evolution of the Statute

5. Current Policy

B. Intentionalism
1. Judge tries to figure out what the legislature had in mind

2. If you’ve got it, look at legislative history

a. Ideally: find specific intent

b. If there is no talk of the problem in front of you:

i. Imaginative reconstruction (ie in Holy Trinity, if they even thought a suit would be brought against the minister, what would they do?)

3. Probably wont have an injustice in any particular case because you can conveniently get around the law

a. Almost always able find something on the record to support a position

4. Concerns about intentionalism

a. New textualist concern: judges will manipulate this

b. Digging through legislative history is expensive and irritating

c. Flexibility gives judges an awful lot of power

C. Intent / Purpose Cases

1. Holy Trinity – court relied on history that law was prevented to contracting of importing labor, not “intellectual” labor like priests

a. Not actually distinguished in statute (even though there was huge exception carved out for others)

b. “Spirit of the Act” test

i. Literal meaning was completely against the priest

ii. Spirit of the act was in his favor

c. Committee report said they meant to exclude all intellectual laborers, but it was only a small committee

i. No idea what the whole body thought

ii. The idea was introduced but not included in the language

d. Distinction between intent and purpose
i. Intent: what is the specific thing a statute is intended to do

ii. Purpose: why is this thing being done (don’t care about the mindset of the legislators)

e. Case is also about threshold to look at legislative history

i. Scalia: if Holy Trinity is cited, the textual argument is going to be very weak

2. Fishgold v. Sullivan Dry Dock – Hand looked at intent of the statute, not its purpose
a. Statute: a person who left employment to go to military service would be given their job back and not discharged for a reasonable amount of time when they went back

b. Soldier came back and was laid off within less than a year

c. Court rules the layoff was OK because a “layoff” is temporary  as opposed to a discharge, which is permanent

d. Hand also looks at the intent of Congress that passed the statute

i. He is sensitive to the unforeseen consequences, but he cannot change the statute

D. Dynamic Interpretation (similar to purpose)

1. Key: be willing to adapt the deal that was struck

2. Congress had some goal when it passed the law

a. Up to the Courts to figure out what that goal is

b. Do what it takes to accomplish the goal

E. Dynamic Interpretation Cases
1. Similar to purposive interpretation – just updating interpretation
2. Not necessarily inconsistent with textualism

a. Text can use a term that changes over time (ie the female jurors)

3. To decide if dynamic interpretation is permissible:

a. Use the text to determine if it is permissible

b. Be wary of giving judges too much legislative power

4. Li v. Yellow Cab of CA – Court allowed contributory negligence statute to be read as comparative negligence
a. CA Civil Code said common law rule that statutes are to be strictly applied does not apply to the Code

b. Idea: comparative negligence now exists and most states have adopted it

i. Problem: strange to say there was legislative intent

1. Comparative negligence didn’t exist when statute was written

ii. Arguable that CA intentionally hasn’t adopted it

iii. Dissent: process to update statutes is legislative, not judicial

5. In the Matter of Jacob – Adoption statute interpreted dynamically to allow homosexual couple to adopt children

a. Textual obstacle to allowing adoption by two unmarried people

b. Ruling: spirit of the act is to put children into homes

c. Court looked at pattern of amendments that evidenced expansion of people who could adopt regardless of marital status or sexual orientation

i. Policy dissent: unmarried partners are free to leave with no financial burden, and that could harm a child

6. Female Juror Cases – Statutes that previously barred female jurors read to allow them

a. Text only said “persons” or “qualified electors” – meaning changed over time

b. Argument: by using vague language, legislature intended the meaning to change over time

i. Counter: could not have been intent to include women because legislators at the time never wanted to include them

ii. Note: this is a case where looking at intent gives you a more conservative result

F. Textualism

1. Green v. Bock Laundry – absurdity exception to textualism

a. Textualist: prejudicial evidence allowed against π (his prior felony conviction) 

b. Problem: absurd result in a civil case

i. Worry about prejudicial evidence against ∆ only in a criminal case

ii. But that makes no sense in a civil case
c. Strict textualist would say in an absurd result case to consult legislative history

i. Anti-textualist argument: once you’re looking at context, why not look at the context of the legislative history

ii. Counter (Scalia, who budged on the absurdity argument in Green)

1. We don’t know if there’s a genuine indication of what the legislature wanted

2. We’ve made legislative history totally unreliable

3. Legislators will pepper the record with comments that support their position if they know it will be looked at

2. United States v. Locke – Supreme Court does not budge on 12/30 deadline

a. Marshall (usually very sympathetic) was very unsympathetic

i. Text is very clear about deadline

ii. No point at looking at intent since deadlines are inherently arbitrary

b. Dissent: even the agency made a mistake in reading the statute

i. Note: Locke given relief by equitable estoppel
G. Plain Meaning / New Textualism (example: Judge Easterbrook, Scalia, Holmes)

1. Basic notion of the rule of law: we need some kind of predictability about what counts as law

a. Judge as faithful agent, linguist and grammarian

2. There’s been lots of steps along the way where people considered this law

a. There was deliberation and this is the law we came up with

b. Crapshoot based on politics and age of the judges who get on the Supreme Court

i. All decisions to be made on the political side

3. May look unfair and unjust in individual cases

a. New textualism counter: too bad – we need to have that in some cases to have a more predictable system

b. Onus is on the legislature to be more careful and think about stuff

4. Legislative history is not a good thing to look at

a. No assurance the legislature really looked at it, thought and talked about it

b. Question if they even read the statutes when they voted

5. Strengths and weaknesses

a. Strengths: Objective and transparent, democratic and predictable

b. Weaknesses: Limits to language, unconnected to consequences, doesn’t realize it’s own subjectivity

H. New Textualism Cases (also look at Locke)

a. United States v. Marshall (Easterbrook): ordinary usage of “mixture” used to impose higher sentence for LSD dealer

b. ∆ didn’t want weight of blotter paper being used for sentencing

c. Easterbrook: LSD is absorbed in the paper, not on it – this is the dictionary definition of mixture
d. Posner dissenting (pragmatic approach and legal process)

i. Concerned about ex ante effects (unfair that distributors get harsher sentence than big fish because of weight of carrier)

ii. Sentence should be based on weight of the drug (LSD is sold by the dose)

iii. Absurd result: LSD is treated much differently than similar amounts of cocaine, crack, heroin, etc.
2. United States v. Brogan (Scalia): ∆ convicted for giving false affirmative “no” during government investigation

a. Textual argument: “no” by itself meets dictionary definition of a statement

i. No conviction had he said nothing or said “I plead not guilty”

b. Ginsburg concurrence: concerned with entrapment policy arguments

i. Still couldn’t get away from the text of the statute

c. Possible purpose approach: purpose was to protect gov’t from people proactively lying to them

VIII. Canons of Statutory Interpretation

A. Top Ten Textual Canons

1. Ordinary Meaning: interpret words according to their ordinary meaning unless there is a specialized/technical subject

2. Noscitur a sociis: interpret a general term to be similar to more specific terms in a series (meaning known from associates)

3. Ejusdem Generis – interpret a general term to reflect the class of objects reflected in more specific terms around it

a. Gets easier when there are more examples in the sequence

4. Expressio Unis – expression of one thing suggests the exclusion of others

5. Punctuation Rules – Assume that placements of commas and other punctuation are meaningful

a. Don’t have to apply the “rule of the last antecedent” if not practical; also can be overcome by statute or past historical use
b. Rule of last antecedent:

i. “Read pages 100-200 and 300-400 except the notes” – read the notes on pages 100-200

ii. “Read pages 100-200 and 300-400, except the notes” – no notes

6. Referential and Qualifying Words - refer only to the last antecedent

a. Can be overcome if separated by a comma
7. Conjunctive v. Disjunctive Connectors
a. Not A and B means not A or not B

b. Not A or B means not A and not B

8. Singular and plural, male and female pronouns are interchangeable
9. Golden Rule - adhere to ordinary meanings and grammatical construction unless it leads to manifest absurdity or there is evidence of scrivener’s errors
a. Absurdity doesn’t have to rise to level of unconstitutionality

10. Whole Act Rule – idea is coherence

a. Title of a statute is informative

b. Preambles and purpose clauses are helpful when there is ambiguity in clauses
c. Provisos and statutory exceptions should be read narrowly

d. Avoid interpretation in a way that will render something else redundant

e. Presumption of consistent usage and meaningful variation within the statute

f. Rule against interpreting a provision in derogation of other provisions

i. Avoid operational conflict, philosophical tension, structural derogation
B. How Courts can use Substantive Canons

1. Tiebreaker – canon affects the outcome only if, at the end of the basic interpretive process, the court is left unable to choose between competing interpretations

2. Presumptions – Set up a presumptive outcome (at the beginning of the interpretative process)

a. Can be overcome by persuasive support for contrary position

3. Clear Statement Rules – Purport to compel a particular interpretive outcome unless there is a clear statement to the contrary

C. Substantive Canons (Rule of Lenity)
1. Rule of Lenity – when applicable, interpret a statute most favorably to a defendant

a. Separation of powers: legislatures create crimes, not courts

b. Probably save the rule of lenity for cases that are really on the fence

c. Justification: Notice: don’t get somebody who doesn’t know what they’re doing is bad

i. Try to make language in criminal statutes more specific so prosecutors are bound in the things they can do
2. Muscarello - ∆ convicted for “carrying” a gun (gun was in the trunk of his car during a drug sale)

a. Majority relies on ordinary meaning of “carry” – cite sources of literature, dictionary, Bible, etc.

b. Questionable if rule of lenity should apply

i. If lenity is about notice to ∆, it’s probably fine not to apply it here
1. Malum en se – guns and drugs are a dangerous combination

ii. But, if you’re worried about separation of powers

1. The statute is unclear; interpret it favorably to ∆

2. Let the legislature fix the statute

D. Substantive Canon (Avoid Constitutional Problems)

1. Interpret statutes to avoid Constitutional problems

a. Hard enough to pass legislation

b. We don’t want to strike down the acts of Congress lightly
2. Questionable aspects of this canon

a. Court gets to decide what is Constitutional or not in any given case – question if this is really their place
b. Question if it’s really a good thing to avoid the question

c. Perhaps Court is just being deferential to Congress

i. They would have thought of it already

3. NLRB v. Catholic Bishop of Chicago – majority wanted to see some affirmative intent by Congress that there is some interpretation that would raise Constitutional issue

a. Note: this is a very aggressive formulation of this test

b. More usual application: Almendarez-Torres - if there’s two interpretations, use the one that avoids the Constitutional question

E. Federalism Canons (important to the current Court)

1. Basic question: how much power can Congress exert over the states

2. In the past, Court took a hands off approach to fed/state disputes 

a. Hallmark of the Rehnquist court: we don’t want Congress to exceed its power under the Commerce Clause

b. Idea: constitutional rights aren’t to be totally trusted to the political process

3. Canon allows for federalism to impinged, but Congress has to be really specific to allow it
4. Ashcroft v. Gregory – majority says we assume Congress doesn’t want to interfere with states rights unless they say so clearly

a. Aggressive canon: requirement of a super strong clear statement

IX. Extrinsic Sources of Interpretation
A. The Common Law

1. In the past: don’t trust legislators to overturn common law

2. Now: common law will come in no matter what your theory of interpretation is

a. Textualist: will look at common law as a source of meaning

b. Intentionalist – what was Congress getting at? Trying to overrule common law?

B. The Legislative History Funnel

1. Conference and Committee Reports (start here)

2. Sponsor Statements

3. History of the bill and rejected proposals

4. Floor and hearing colloquy

5. Views of non-legislative drafters

6. Legislative Inaction

7. Subsequent Legislative History

C. Signals to Look at Legislative History

1. Circumstances of enactment:

a. Is there some red flag about how the statute was enacted?

2. Clarity of the language – if language is ambiguous, more likely to look 

a. Probably the number one indicator of knowing when a judge will look at legislative history

3. Is the purpose unclear?

4. Are there terms of art in the statute

a. If yes, would legislative history tell us if they’re right

5. Is there inconsistency in the law? 

a. Legislative history might be a tie breaker

6. Are there canons to say to look at it

7. Will there be an absurd result if we don’t?

a. Even a strict textualist would go along with this idea

D. Other Actors in Legislative History

1. Question of legislators/judges read the things they cite

a. Legislators might not, but that’s okay – it’s not really their job

i. Part of the reason Scalia is so skeptical

b. BUT somebody looked at it (ie staffers or lobbyists)

i. If you like a pluralistic model, this is still okay

2. Comments from a bill’s sponsor probably get more deference
a. Most likely going to be more consistent in their statements

b. People have relied on them

3. If the President comments while signing, Courts don’t give it much weight

a. May be trying to manipulate legislative history or get a press moment

b. Congress doesn’t get a chance to respond

c. Courts will give weight if President vetoed and Congress responded

i. What was the reason for the veto?

ii. How did Congress interpret and react

E. Extrinsic Sources Cases

1. Leo Sheep – a lot of background historical material used by Rehnquist

a. Civil War, railroads, the gold rush, etc.

2. Blanchard v. Bergeron – conflict in legislative history about attorney’s fees
a. Arguments that legislative history was unhelpful

i. Minor and insignificant

ii. Lower court relied on Congressional committee approving three district court decisions (unlikely they actually pored through trial material)

3. Sinclair – the farm subsidy case (can the particular statute provide remedies sought)

a. Key: Think about how to make an argument for the Court you’re going in front of / why was the statute created

b. In this case: Court had to know statute was created to assist farmers during bad agricultural season

i. If they can’t get their remedy from the statute, the statute is useless

4. Montana Mining I– question if Alaska national forest statute applied just to Alaska or to the whole country
a. In Pari Materia – One subsection said Alaska only, so the subsection in question interpreted to apply to Alaska only since they’re supposed to be read together

b. The rest of the act and the title are both about Alaska

c. Judge still consults legislative history

i. One senator (Udall) had said Alaska only
5. Montana Mining II – first case reversed when Udall flipped positions

a. Conference Committee report also persuasive because it was written by people close to the legislation

b. Ordinarily, subsequent legislative history does not get much weight
i. Too easy to manipulate

ii. Judge allowed it in this case because the conferees had really thought about the issue, and because of who they were

6. Bob Jones University v. US – case showed how legislative inaction could be useful

a. Case was 12 years after IRS made a ruling

i. If Congress wanted to fix it, they would have

ii. Strength in this case: Congress thought about it a few times but did nothing

iii. Subsequent legislative developments can be more persuasive if the same people are involved

b. Arguments against using legislative inaction

i. Bob Jones was about controversial topic – could be reason for inaction

ii. Passing legislation is difficult enough – Congress may prefer to leave difficult issues alone
7. Morton v. Mancari – Courts want to interpret statutes cohesively

a. Preference for allowing statutes to co-exist rather than letting one trump an earlier statute
X. Agency Law: Non-Delegation Doctrine
A. Overview

1. Substantive canon of statutory interpretation

a. Not a very robust doctrine, but

b. Courts prefer to interpret statutes in a way that doesn’t give an agency too much power

2. Permissibility of Congress delegating their powers

a. Strict reading of Article I: probably okay for Congress to delegate to their staffs

i. They still have to come back and act

b. Maybe not as much with agency

i. Agency decisions have force of law immediately

ii. It’s up to Congress to correct them

3. Keys about delegation from Shechter and Amalgamated
a. Must be an intelligible standard for agency to follow

i. Current law: take broad view about what is intelligible (Amalgamated)
ii. Key: look at the text

iii. Agency has to make decisions consistent with the statute
b. Preference for limitations on scope and length of time

c. Care a lot about procedures and judicial review
B. Shechter Poultry and Amalgamated Meat Cutters
1. Shechter Poultry – ultimate non-delegation case; still good law
a. No real standard: FTC empowered to enforce “fair” competition

b. Too broad in scope (statue in Shechter covered every industry)

c. Unclear how long the duration of the statute was

d. Private group might be too self interested (poultry industry in Shechter)

e. Too much authority delegated to the President

2. Amalgamated Meat Cutters – allowed delegation; more modern version of Shechter

a. Allowed with more intelligible standard

b. Case was about gross inequities in prices

c. Court ruled the statute did not issue a “blank check” to the President to be unfair
C. The Benzene Case – 

1. Courts will read limits to avoid non-delegation problem (like Amalgamated)

a. Subset of the canon to avoid constitutional canons

b. Also a substantive canon – idea: “congress wouldn’t do that”

2. Reasons for creating agency like OHSA

a. Scientific information that lay people lack

b. General equity principle – workers don’t have a lot of power

c. Societal benefits: if workplaces are regulated, everyone else won’t have to pay as much for worker’s medical benefits

3. If science isn’t perfect – is it better for limits to be set by Congress or agencies?

a. Pressures of special interests, knowledge of science and expertise

b. If science is incomplete, an agency will have to make a policy judgment

i. Have to make a “best guess” or “pick a number”

ii. Sometimes a pure policy call: ie the FCC deciding what you can say on television

D. Discretion v. Power Model in Benzene
1. Benzene plurality: decides on preference for more discretion to an agency

a. As opposed to giving them too much power

2. Threshold requirement: before the agency can regulate, they must decide if something is a significant risk

a. This gives OHSA a lot of discretion (lots of judgment calls), BUT

b. Limits the scope of the statute – limits the agency’s power

3. Reticence to give agencies too much power

E. Benzene: relationship to current non-delegation doctrine

1. Shows current state of doctrine (interpretive tool)

a. Interpret to avoid delegation of too much power
2. Rehnquist dissents on non-delegation grounds

a. When he loses, it’s pretty much over for the doctrine

b. If it can’t be applied to a life and safety case like Benzene, question what it could be applied to

F. Two Ways for Agencies to Oversee Things

1. Cost-benefit analysis

2. Comparative risk assessment

a. Does agency policy make sense

3. Question of what to look at when evaluating risks

a. One idea: just objective facts

b. But another: look at people’s perception of risks

i. Catastrophic risk: mental component – something strikes people as worse

ii. Examine if a risk is falling on a particular group

1. If so, ask if we care or need to care

c. Question: are agencies good at taking perceptions into account?

i. If not, maybe better left for Congress to make decisions

4. Note: When Benzene came up again later, ruling was no CBA
a. Do a significant risk analysis

G. Ways for Congress to Oversee Agencies

1. Oversight committees / pressure in hearings
2. Withholding funding

3. Provide a new statutory mandate (tough to do)

4. Conduct audit to see how agencies have handled appropriations

5. Place inspectors general in the agency to make sure they’re enforcing the law

6. Reporting requirements and investigations

H. Reasons for caring about non-delegation not withstanding the above

1. Congress can do them; doesn’t mean they will
a. Having Congress decide policy: avoid passing the buck / blame shifting

i. Idea of blame shifting: Legislator will make token gestures to constituents, and then pass difficult choices to the agency

b. Public choice scholars: non-delegation isn’t enforced enough

i. Concerned with blame shifting

c. Basic ideas to keep in mind

i. Do we trust the control mechanisms

ii. We trust Congress – if they decide to delegate (but with enough control), do we trust that decision?
XI: Executive Oversight of Agencies
A. Power of Removal

1. Independent agencies: President cannot remove people at will

a. Goal: agencies will be less politicized

b. We want some continuity in government (President changes often)

2. Executive agencies: President can remove people at will

3. Basic issue: what is the fundamental role of the President

a. Strong unitary executive (the buck stops here), or

b. A more blended function

i. Seems like some blending from the outset

ii. President doesn’t have unlimited powers of appointment, negotiation, etc.

B. Legal Authority for Giving President Removal Powers

1. Executive power in the Constitution

a. Argument: If President has hiring power, he should have firing power

b. Counter: Constitution lists a bunch of things the President can do, but this is NOT one of them (expressio unis)
c. Counter to expressio unis argument:

i. Power to hire comes with power to fire

ii. All the other language doesn’t add much

2. How Presidents get political majorities in agencies

a. Some people quit when Presidents change 

b. Chair people usually resign since President gets to pick the chairman
c. With no removal protection, President could just clean house right away

i. Rule after Humphrey’s Executor: if they don’t resign, President has to wait until their term expires

C. Executive Removal Cases

1. Myers v. US - Court struck down a statute that would have allowed Congress a say in who gets to remove the postmaster

a. Taft: President has to have responsibility for the people under him

i. That’s what politics is about

b. Taft approaches things with Presidential bias

2. Humphrey’s Executor – reverses Myers ten years later

a. FTC ruled to be quasi-legislative, quasi-judicial (as opposed to postmaster who is more purely executive)
b. FTC had duty to investigate unfair trade practices

c. Power to investigate is partly executive, but

i. Agency will actually pass rules (legislative)

ii. Agency will have hearings to decide cases (judicial)

iii. More than just an arm of the executive branch: it’s making rules and adjudicating claims

d. Use of the word “quasi”

i. Avoid making people nervous about separation of powers

ii. Quasi says the function is not purely executive, so its no like Myers

3. Weiner – Court limits removal power for Commissioner – statute said nothing about removal

a. War claims commission that decides what former POW’s get

i. Not a judicially reviewable decision

ii. Commission has final word of who gets what money

b. Statute was silent, but Court gave commissioner job security

i. Agency is exerting judicial power

ii. Body is limited in time – when people are filing their claims, they need to know who they’re filing with

D. Morrison v. Olson – creation of new test: Is Congress trying to interfere with President’s constitutional duty of executive power?

1. Issue: is statute not allowing President to remove independent counsel unconstitutional (except for good cause)

2. Arguments for unconstitutionality:

a. IC is somewhat executive position

b. Doing the work of a prosecutor and bringing charges

c. IC is charged with administering the laws of the US

i. Arguably executive power

3. Creation of the new test (statute held to be permissible)

a. Congress was giving no authority to itself

b. Congress had no say in removal of the IC

4. Costs of the independent counsel statute

a. Scalia dissent: Worry about unchecked prosecutorial discretion 

i. Going after a person, not an activity

b. Concern about blame shifting

i. Legislature can shift blame to IC, or

ii. Just reap any benefits of their work

c. “Good cause” – something has to be substantial to get rid of IC

d. Problem of accountability

i. If people don’t like what IC is doing, no political actor really has the power to stop them

ii. Becomes an unaccountable person who is just prosecuting one person
1. Scope of IC investigation is set out in the beginning, but can always be changed later by special court who appointed him

5.  Benefits of independent counsel statute
a. Need for independence to investigate executive branch

b. Don’t want decisions to ebb and flow with politics

c. Proponents: foundation of trust between gov’t and citizens

d. Non-partisan process to guarantee integrity of gov’t officials

XII: Cost Benefit Analysis: Executive Orders and OMB
A. The Role of OMB and OIRA

1. Agency submits proposal to OMB for “significant” regulation

a. Economically significant: submit more detailed information (CBA)

2. OMB responds to agency proposal
a. If OMB gives pushback, agency usually tries to appease OMB

i. Fear of executive pressure

ii. President can influence public pressure on agencies

3. OMB cannot force agency to do anything

a. No judicial review

b. Process usually works in practice, BUT

i. No binding obligation on agency behavior

c. Clinton executive order: conflict will be resolved by VP

d. Bush executive order: resolved by some person designated by the President

4. After Benzene, rule: CBA not allowed under governing statute

a. OHSA will submit CBA to the executive branch, BUT

b. CBA cannot be the basis for their regulation

5. Powerful Tool for the President

a. Exert control

b. Partially force agency to do something they’re not allowed to do by statute

c. Background procedure inevitably has some effect on what the agency decides

6. Good subtle way of effectuating Presidential oversight

a. Bad public image if agency head resigns and says it’s because of policy dispute

b. Having administrator resign quietly is much better for President

7. Criticism of OMB review

a. Some things will be more easily quantified than others

b. OMB will emphasize easily quantifiable costs

c. Difficult to quantify certain costs: ie animal treatment standards

B. Politics of Presidential Executive Orders (Reagan/Bush/Clinton/Bush)
1. Regan: Executive Order 12,291

a. Executive branch wants all costs and benefits of agency proposal

b. Agencies not just asking for money

i. Also tell what they’re going to do and why it’s a good idea

2. Clinton: Executive Order 12,866

a. Extended Reagan policy

b. Alleviated concern that 12,291 would be partisan on deregulatory lines

c. Still being used by current Bush administration
3. Difference between Regan and Clinton: Transparency

a. Past: anybody at OMB can be lobbied

b. Now: only one administrator at OIRA can receive oral communication from people not employed by executive branch

c. All information becomes public

i. But still not until after agency makes a decision

4. Variation of Clinton approach by Bush: use of “prompt letters” to agency heads

a. Give suggestions to think about and/or request meetings to discuss

b. More pro-active: use executive branch to increase presence in regulation
C. Analysis of Regan/Clinton Executive Orders

1. Benefits of the methodology:

a. For President: gives him more power

b. Increase in Presidential accountability

i. If voters don’t like what President is doing, they can vote him out

2. Downside of methodology – possible overstep of legislative authority

a. Agencies may be quicker than Congress, but it’s not as deliberative a process
b. Continuity concern: worry that regulation will change every four years

c. Efficiency costs – different presidents will deal with agencies differently

i. Might add layers to agency’s review of regulations

d. Transparency concerns (partially dealt with by 12,866)

D. Submission of Regulatory Plans

1. Regulatory Plans: this is what we plan to do this year, etc.

2. Executive agencies: submit detailed CBA to OMB

3. Independent agencies: just a plan that outlines what they’re thinking of doing

a. Largely meaningless

b. Agencies don’t usually stick to the plan and nobody really reads it anyway

XIII: Adjudicative Power of Agencies

A. Overview

1. Basic issue: how to divide adjudicative responsibility between agencies and Article III courts
a. Agencies do more adjudications than Courts (ie social security appeals)

2. Reasons for agency adjudication rather than Courts

a. Agency could develop a body of knowledge certain kinds of disputes

b. Relieve burden on the court

c. Congress can retain more control over the process

i. Judiciary is more independent and might not as easily go along with what Congress wants

3. Where the law stands today with respect to delegation

a. Claims to public rights: no problem with agency adjudication

i. Public right: something that the government created for you

ii. No need to seek remedy from the judiciary branch

iii. Agency that gave you that right in the first place is sufficient

b. Claims to private rights (dispute between two parties)

i. If the right has been created by Congressional scheme, there will be some flexibility

c. If it’s core common law judiciary matter

i. Could still be before an agency

ii. Will depend on multi-factor analysis (see Schor)

iii. Consent of the parties, narrow process, intention to alleviate courts

4. The Schor case – shows where the law stands

a. Ruling: agency assumption of jurisdiction over common law counterclaims does not violate article III

b. No threat to separation of powers

c. CFTC assertion of counterclaim jurisdiction limited to that which is necessary to make reparations procedure workable

XIV. Due Process
A. Overview
1. Rulemaking – Londoner v. Denver and Bi-Metallic case

a. Londoner ruling: not necessary to give individual agency hearing to homeowners who had grievance about tax for a proposed road

i. No question would have been raised if a legislature passed decision about tax

ii. Reason: accountability of legislature

b. Bi-Metallic: due process will kick in when large number of people are affected on individual basis

i. This is where agency acts most like a legislature

ii. Hearing not given in Bi-Metallic – you would not get a hearing in such a case under Constitution
iii. Procedural safeguard in general lawmaking is the political process

2. Cases are interpreted to mean that due process is required when proceeding is functionally an adjudication

a. An administrative adjudication that deprives someone of liberty or property must provide due process

b. Issue is often whether something qualifies as liberty or property

B. Goldberg v. Kelly (1970): due process requirements for removal from welfare rolls

1. New York had two-step administrative procedure when welfare was terminated
a. Informal hearing: welfare recipient could tell her side of the story

2. If the state decided to terminate welfare, recipient could seek a de novo formal administrative hearing

3. NY did not claim that π wasn’t entitled to due process (formerly the case because welfare was a “privilege”, not a right)

a. State claimed their procedures were good enough

4. Court: loss of gov’t entitlement such as welfare has the same impact as when gov’t deprives someone of traditional private property

a. SC: Ordered welfare agency to provide welfare recipients with extensive administrative hearing rights prior to termination of benefits on grounds of ineligibility
5. Unclear (maybe subjective) at the time how to determine when a personal interest in gov’t benefit or privilege would rise to level of a personal right protected by DP

a. Clarified later by Roth and Perry
6. Policy: institutional competence – question about whether the Courts are the best avenue to be making decisions about Constitutional hearings

a. Legislatures might be more politically accountable

b. Counter: gov’t doesn’t on its have sufficient incentives to come up with proper procedures

i. Possible gov’t may miscalculate when it evaluates costs and benefits

ii. Won’t be much public oversight over procedures after the substantive policy is passed

5. Goldberg was decided on the Constitutional issue

a. Can only be changed by overruling or amendment

b. Brennan: framers could not have imagined this kind of bureaucratic administrative state, and the Constitution has something to say about how gov’t treats people

6. What has happened since Goldberg

a. Increased request in welfare hearings (expensive for agency)

b. Success rates at hearings have declined

c. States have tightened welfare rolls (unclear if there’s a causal connection)

d. Requirements to get on welfare are much more objective with much less social worker involvement

C. Board of Regents v. Roth (1972) and Perry v. Sinderman (1972): person must have legitimate claim of entitlement to have a property interest in a benefit

1. Two part test announced:

a. Does claimant have a property or liberty interest: this would trigger due process

b. If due process is triggered, what kind is necessary

c. “On” or “Off” test: there is no balancing
2. Both state university professors who were terminated because they alienated administrators with political speech
a. Roth: assistant professor whose one year contract expired and was not renewed

b. Perry: full professor who taught for ten years at state college with no explicit tenure system

3. Roth had nothing but a unilateral expectation of being rehired

a. No deprivation of liberty: they didn’t defame him and he’s still just as well off

b. No deprivation of property: No tenure whatsoever in the school’s system

c. Court: no protectible property interest under DP clause

4. Perry: there was informal system of tenure and security rules were hinted at in job manual (he gets a hearing)

a. Teaching is “satisfactory” and he had “cooperative attitude”

b. Counter-argument there weren’t any rules: the manual was just fluffy language about professor feeling happy

c. Court says he at least gets to argue about it before he’s let go

5. Seems Court is going with statutory entitlement approach rather than grievous loss approach

a. In Roth, it’s entirely statutory entitlement

b. Perry could be grievous loss because he worked there so long, but it’s still statutory entitlement (the job manual)

6. Bottom line: There needs to be some legit legal source of entitlement to show if you have enough of a property interest to get to the next level

D. Matthews v. Eldridge (1976): three part test for what DP is due (if any)
1. Agency decided that π (Eldridge) no longer qualified for disability benefits

a. Agency notified him and gave him opportunity to respond

b. He did, but agency did not change its mind

2. Similar to Goldberg: both provided for informal determination based upon exchange of written materials prior to termination of benefits, with 

a. Opportunity for a formal full evidentiary hearing after termination with retroactive payments if they won

3. Three-part test for assessing adequacy of a proceeding under DP clause (Eldridge lost his case)

a. Private interest that will be affected by official action

b. Risk of erroneous deprivation of that interest under the required procedures, and

i. The likely reduction of that risk by requiring more/different procedures

c. Government’s interest in using the required procedures, as opposed to more/different procedures

4. Application of the test in Matthews:

a. π’s interest in receipt of his payments pending results of post-termination hearing was important – hearing decisions took almost a year

i. BUT – not as important as the welfare recipient in Goldberg

ii. Welfare is last social safety net: even temporary termination could be disastrous

iii. If somebody lost disability, they may qualify for other public assistance

b. In disability determinations: decision would turn on routine, standard, unbiased medical reports by doctors
i. In welfare cases: may turn on issues of witness credibility, so trial type procedures would be more useful

ii. Doctors are more able to clearly write their opinions than welfare recipients who may have poor writing skills

c. Gov’t interest in avoiding administrative burden and cost associated with requiring evidentiary hearing before any termination of benefits

i. Court stressed decisions are made based on the general majority of cases, not individual rare exceptions

ii. Fails to tailor due process to particular cases, but serves the purpose of reducing the need to make ad hoc judgments as to fairness and makes more predictable the adequacy of agency procedures

5. Implication of Matthews: more flexible notion of what could be fair procedure, so long as affected person had a reasonable opportunity in light of his circumstances to address the issues

XV: Administrative Procedure Act (APA)
A. Overview

1. §551 of APA: recognizes difference between rulemaking and adjudication

a. With Constitution, you only got due process for adjudication, not rulemaking

2. First question: is the agency adjudicating or passing a rule? Define by output:

a. Adjudication produces order

b. Rulemaking produces a rule

i. Agency will announce a rule for this day forward

ii. Rates (ie phone rates) are always rules

c. Anything that is not a rule will be an adjudication, including licenses to do something

3. Organic statues may call for hearings, but the APA never does

4. De novo review of questions of fact only occur when:

a. Agency adjudicatory fact finding procedures are inadequate, or

b. Where new factual issues arise in an action to enforce non-adjudicatory action

B. Adjudication

1. First step: examine Constitutional due process issues

2. Second: look at organic statute to determine what it says about procedures

3. Third: look at APA to decide if you’re in formal or informal adjudication

a. Most are informal (like social security benefits)

b. If it’s informal, APA says nothing about procedures (although Courts may make them do certain things to make sure agency decision was arbitrary or capricious)

i. Agency can do essentially whatever it wants within due process constraints

4. If the organic statute calls for “on the record” or some other language used to indicate a formal adjudication:
a. APA §554 applies, which means §§556-57 also apply

C. Rulemaking

1. §553 applies to all rulemaking with certain exceptions (ie military and foreign affairs)

2. No constitutional due process issue
3. Next step: look at the organic statute

4. Then look at the APA

a. Decide if it’s formal or informal rulemaking

b. Courts will want to see something specific to trigger “formal” rulemaking: formal rulemaking procedures are extremely difficult (ALJ takes testimony in trial type procedure with formal cross examination)

c. Most rulemaking is informal

d. §556 and 557 apply to formal proceedings

5. §553(b): informal / “notice and comment” proceedings

a. Notice of proposed rule must be in the Federal Register so people have the opportunity to respond

b. People make both legal and blatant policy arguments (could be a good thing that policy arguments are in the open instead of being veiled)

c. After accepting comments from the public and issuing a rule, agency provides explanation of the basis and purpose of the rule when it adopts final rule

6. Any rule not required to be adopted either through formal rulemaking or notice-and-comment rulemaking is subject only to requirement that the final rule be published in the Federal Register

D. Judicial Review (§706 of the APA)

1. Reviewing court shall decide all relevant questions of law, interpret constitutional and statutory provisions and determine the meaning or applicability of the terms of agency action

2. Court can always set aside agency action under arbitrary and capricious test, abuse of discretion
3. §706(2)(C): court can set aside agency action if its in excess of statutory jurisdiction, authority, or limitations

4. Court can set aside agency action if it is not supported by substantial evidence in §556 and §557 formal proceedings
5. Court shall review the whole record

E. The Role of the ALJ

1. Agency will have an ALJ (administrative law judge)

a. There is a separation between ALJ and other people at the agency

b. Idea: have the agency look more like a court

c. Make the agency less political
2. The opinion of an ALJ gets some weight, but not really “deference” (Universal Camera)
a. An agency can substitute its judgment for that of the ALJ

b. ALJ finding is part of the record to be considered by the Court, so it may possibly undercut agency’s finding if its inconsistent with agency decision

3. Case for giving more weight to ALJ finding is when its made at least in part on demeanor evidence

a. Agency itself cannot observe witness’ demeanor

b. Although studies show ALJ will only be able to pick out a lie around half the time (40% – 60%)

c. But we still think they’re pretty good at it, so they get some credence

XVI: Substantial Evidence Review in Formal Proceedings
A. Substantial Evidence Review

1. Defined by Frankfurter in Universal Camera v. NLRB
a. Such relevant evidence as a reasonable mind might accept as adequate to support a conclusion

2. Review the evidence to see whether reasonable people could make the finding the agency made
a. Fairly deferential standard as stated

3. Does not change underlying fact that a preponderance of the evidence is necessary for an agency to make factual finding

4. Court asks: could a reasonable person viewing all the relevant evidence in the record find that a preponderance of the evidence supports the agency decision (Allentown)

a. If the answer is yes, agency decision meets substantial evidence test

B. Allentown case: agency cannot make policy judgments through fact finding

1. Test allowed polling employee support of union representation if there is a “good faith reasonable doubt”
a. Scalia: those terms have meaning and the agency cant make them mean something else

b. Agency wanted to allow exclusion of statements made under certain circumstances, but that was not part of their stated policy

2. When board makes decisions it’s much easier if they use the annunciated standard
a. It can’t change it because that would amount to policy judgment and make it hard for the courts, executive branch and legislature
3. Had the agency said “no polling unless you reach a threshold level, and we won’t count situations x and y”, that would have been fine, but they didn’t do it that way
4. NLRB was intentionally trying to hide policy decisions behind “fact finding”, and Court said they can’t do that

5. Justice Breyer in dissent:

a. Agencies are experts, we should defer to them

b. It’s not unreasonable if they change the standard a little bit – they have  a lot of lawyers to figure that all out, and they’re used as terms of art

6. Remember also that arbitrary and capricious review is always available

XVII: Arbitrary and Capricious Review for Informal Adjudication

A. Overview

1. APA does not provide for procedure for this, despite the fact that its over 90% of what agencies do
a. Due process does provide for minimal protection.

b. Standard of Review: arbitrary and capricious
c. We created this to check agency capture
2. When court strikes down policies: they are not challenging what the agency chose, just the process in which they choose it (Scenic Hudson)
3. An informal adjudication must have formal findings that explain the decision, even if there is no formal process 
a. No record = remand to the agency

b. Even though the APA does not require a particular procedure, agency has to produce some record so that we know what the hell it is they’re doing. (Overton Park) 
4. Statute will play two roles in reviewing agency decisions

a. Figure out what the agency is charged with doing

b. Did agency reach a reasonable interpretation of it’s organic statute
5. Same kind of balancing test as the due process concerns – there are costs and benefits of procedure (see Scenic Hudson)

a. There are benefits like democracy, accountability, legitimacy, making people feel like they’re participating

b. Flipside – at some point, the costs will outweigh those additional benefits

c. If there’s no formal set of procedures, we have to decide what is necessary for arbitrary and capricious review

B. Scenic Hudson case (2nd Circuit)
1. Con Ed wanted to build hydroelectric plant, conservationists want it blocked

a. This is an adjudicative process: they’re issuing a license

2. Looks like an informal procedure, but organic statute says substantial evidence review

3. Agency decision was remanded:
a. Evidence came in to the agency after their deadline, but their statute said that if material evidence came in late, they had to look at it

b. It makes sense to give the issue back to the agency because they have the expertise and funding
c. Nothing in nothing in the APA that required the agency to formally write down why the agency rejected this guy’s testimony

i. But 2nd circuit court says it’s arbitrary and capricious that they didn’t do so

4. Court: agency explanation for their decision was just insufficient – it was “scanty”

a. The later evidence sounds like it has some merit, so look again

5. Advantages of allowing a Court to do this:

a. Puts the agency on notice: we’ll defer to you to make the ultimate call, but we want to make sure you’ve considered everything you could consider

b. Increases accountability

6. Arguments against:

a. May be a waste of time as a practical matter

b. In this case, it took 5 years for the second case to come up – its possible that delay caused power plant never to get built

C. Overton Park (Supreme Court, after Scenic Hudson): agencies have to really explain what they did to avoid arbitrary and capricious problem
1. Tennessee wants to build a highway through a park in Memphis

a. This is an informal adjudicative process (that’s the default)

b. No procedures apply other than what the statute will require of the agency

2. Issue: Does the secretary of transportation’s decision pass the arbitrary and capricious test
3. Secretary argues: statue says he can authorize federal funding for highway through parklands if there’s no feasible alternative

a. There’s a lot of discretion in that, so he thinks he can just pass a rule

b. Rejected: secretary has that much discretion to balance all costs and benefits in a very narrow set of cases (typically national security)

4. Why interpreting the statute mattered for arbitrary and capricious review:
a. First decide if secretary acted within the scope of his authority

b. Next: decide if his actual judgment was arbitrary and capricious (were all relevant factors considered, and was there a clear error in judgment)
c. Possibility of “clear error in judgment”

i. Bit of a substantive catch all for the courts

ii. Maybe a policy decision that is so unacceptable to the point of being arbitrary – so illogical that it falls off the charts

iii. Could be not enough factual evidence to support your judgment

iv. Can’t be inconsistent with prior agency decisions or fail to consider certain alternatives

5. Supreme Court makes judgment about arbitrary and capricious review

a. Supposed to be a rather narrow standard of review

b. Court: we have no idea if the secretary took into account all relevant factors when making his decision; we don’t know what he thought was important

6. On remand in the district court:
a. Either the secretary can testify about his findings or issue a report

D. Implications of Overton Park
1. Before the case: idea was as long as it wasn’t so irrational to build the highway and authorize funds, that was acceptable

2. After the case: arbitrary and capricious review says

a. Agency needs to explain why they did what they just did

b. What factors the statutes made them consider

c. What facts support my decision, 

d. Is it consistent, and it’s not so illogical as to be arbitrary and capricious

3. Even though APA doesn’t list those procedural requirements, Courts have read them into the act

4. No agency official wants to testify at a hearing about why a decision was made, so they issue a decision and an explanation for their decision

5. Downsides of this approach: extra cost and taking away from the expertise of agencies

XVIII: Judicial Review of Policy 
A. State Farm: court is requiring more explanation for policy decisions; also an example of informal rulemaking
1. Government regulation of car safety

a. Market failure: people making irrational decisions (ie about seatbelts) which cause problems for everyone else

2. Things to think about when deciding whose comments to give more weight to:

a. Do consumer groups do a good job of representing all consumers?

b. Good and bad parts of listening to special interests

c. Are there pricing issues (ie in this case)

i. Could regulation make things too expensive for consumers

ii. If someone doesn’t have the money, they’ll either not buy a car or buy a used car that isn’t subject to regulations

3. Dispute about who will better predict consumer behavior

a. Agency was afraid of consumer backlash if automatic seatbelts required

b. Court: inertia – people wont bother to take them off after belt swings around

i. Counter: agency will be better at predicting consumer behavior

4. Court acknowledges the agency is making policy decision

a. It’s just that they want more explanation: decision making process is flawed

b. Remember the statute requires agency to consider certain things – if they don’t, now they’ve violated the statute and the arbitrary and capricious standard

5. Majority: “hard look” review of why agency changed its pre-existing policy

B. The “Hard Look” Doctrine

1. Hard look is a way of describing what the arbitrary and capricious test looks like

2. Agency must consider all relevant factors and cannot look at prohibited factors
3. Agency must consider all available options and explain why they didn’t choose alternatives

4. Agency must apply the correct legal standard

5. Agency must explain their conclusions on issues raised in the decision making process 
6. Hard look can be procedural (did agency consider everything that was available) or substantive (agency just didn’t do a good job of considering an argument)

a. Distinction doesn’t really matter – courts don’t care if you’re labeling something “substantive hard look” or “procedural hard look”

XIX: Judicial Review of Questions of Law
A. Chevron v. Natural Resources Defense Council: The two-step test

1. Unless Congress has directly spoken to the precise issue in question

a. Courts should defer to agencies on pure questions of statutory interpretation 

b. As long as the agency arrived at a reasonable or permissible construction of the statute

2. Congress is on notice: if a statute is ambiguous, an agency will end up with a lot of discretion

3. Step 1: Has Congress directly spoken to the precise question? If so, Congress’ intent prevails. If agency’s interpretation conflicts with Congress’ intent, the agency is overruled
a. A good statutory text argument is the best bet at Step 1

b. All the other tools of statutory interpretation are available (language, structure, purpose, legislative history, canons)

c. Often analysis will step 2 if the issue is not addressed by plain meaning

d. Less deferential approach is more likely to find Congressional intent and overrule the agency

4. Step 2: If not, is the agency’s answer based on a permissible construction of the statute?

a. Is the agency’s interpretation reasonable?

b. It’s a good thing if you can convince the Court of the regulatory goal of the Act

5. Rationale for Chevron rule

a. Courts provide stability over time

b. Congress may not trust certain political actors

c. Ambiguity may have been deliberate to give an issue to an agency

d. Possible Congress didn’t care, didn’t think of the ambiguity, or left something ambiguous for the purpose of striking a deal

e. Policy Arguments for courts v. agencies

	For Deference 
	For Courts

	Legal questions aren’t just legal – there are policy judgments involved, and agencies have the expertise. 
	Its an issue of judicial interpretation, and courts have more experience in this area – this is what they do.

	Agencies are more accountable to the public.  


	Courts are also accountable (judicial legitimacy) and they are more objective – will therefore promote democracy better.



	Uniformity – as opposed to circuit splits.  


	Courts have a better grip on the American Society at large, and will be better to shape the direction.

	Agencies have broader expertise – and could tailor the legal interpretation to work in the most effective way possible 
	Agencies will be more careful, so that they can stay out of courts.  

	More attuned to political orientation of administration.
	APA gives courts authority in deciding all questions of law (§706)

	Step one is COURT review. 
	Depending on why Congress is silent they may have wanted court review. 

	
	Courts are less prone to capture. 


B. AT&T v. Iowa Utilities Board – Supreme Court remanded to agency on step 2 (first time)

1. FCC rule essentially required incumbents to provide competitors with unlimited access to their facilities
2. Agency passed step 1 – the governing statute did not specify particular limit on access

3. But they lost on step 2 – the act requires the FCC to apply some limiting standard rationally related to the goals of the act, which it did not do

a. Court never actually came out and said this is a step 2 case, but it was

4. The Court says agency to be more specific – if Congress wanted unlimited access, they’d have just given them unfettered access without putting on the limits that they did

a. Court says the act is about real competition

b. FCC interpretation wasn’t a sufficient enough limit

c. Limit has to be consistent with the goals of the act

5. Souter disagrees: he says its step 2, the agency has a lot of discretion, what they did is reasonable given their discretion
6. Breyer agrees with the outcome, but he sees this as a State Farm arbitrary and capricious issue

a. Agency didn’t consider the costs of what they were doing

b. If you’re going to regulate in the way we’re going to, there are things you have to think about

c. The FCC did not consider alternatives for the competitor

d. Congress wanted to promote competition and this stuff could hinder competition

C. USTA v. FCC: agency cannot act in ways that undermine underlying purpose of the statute

1. Agency rule would have uniformly required unbundling of telephone services even if there was no proof it would promote competition

a. Underlying purpose of the Telecom Act was to promote competition

b. Any agency action had to be for reasonable competition

c. Some blurring between step 2 and arbitrary and capricious analysis

2. Key: (this case and Iowa Utilities) If you’re the agency, its important to articulate why you interpreted the statute the way that you did

a. Why are these interpretations consistent with the goals of the Telecom Act

b. So if you’re arguing for one side or the other, figure out what is the regulatory theory underlying the statute and argue for your interpretation

D. GTE v. FCC: same issue as USTA v. FCC
1. To see if agency is correct: 
a. Does agency policies promote the goals of the statute
b. To solve the question of ambiguous meaning, we need to know what Congress wants

2. Agency can not unreasonably redefine terms in a statute
3. Agencies can NOT just ignore the statute, in order to promote efficiency, or other policy goals

4. Key: you need to have a vision of what the statute is all about

a. Incumbents said its unreasonable to think Congress wanted unreasonable competition in the way of allowing competitors to put equipment in incumbents space that was more than what is “necessary” to route phone calls

b. Counsel for the agency did not have a competing vision and he lost

E. Motion Picture Assoc. v. FCC: you cannot infer authority in the face of Congressional silence
1. Issue: did FCC have authority to mandate spoken video descriptions

a. Programmers argued it does not because that is regulating content of the programs

b. Because of 1st amendment, Congress has to be really specific if its going to regulate content

2. Statute: FCC responsible for making sure that wire and radio are available for all people in the US

a. FCC: we have broad power to regulate, our mandate to make programming available trumps other interests, its not regulating content – its just giving content to blind people who wouldn’t get it otherwise

3. Dynamic interpretation: could say that Congress used broad language because they anticipated technological change

a. But it still says “wire and radio”, and video description doesn’t seem applicable

b. Court decides the statute was about geographic dispersion

4. What hurt the FCC argument: Congress added additional section authorizing them to pass rules for closed captioning, but didn’t do so for video description
a. Great Step 1 for the person challenging the FCC – Congress spoke on the issue

b. Court says you can’t just infer authority in the face of silence

c. You can’t say we get to do this because Congress didn’t say we cant

d. There has to be affirmative grant of authority to let them do something

F. MCI v. AT&T: Court doesn’t defer because they didn’t think Congress would defer such a big deal to the agency

1. Issue: can the FCC say that small competitors do not have to file rate tariffs

a. FCC: Statute says they can “modify” other provisions of the statute (including tariff requirements)

2. Majority: “modify” means an incremental change, and what the FCC is proposing is a major change

a. Argument somewhat blends steps 1 and 2

b. Agency adoption of definition is not within reasonable definition of modify

c. Key: when arguing a statute, first step is to say there’s one way to define this term, and its my way

3. Underlying judgment of majority: some regulatory issues are too large for Congress to trust to an agency, and this is one of them

a. If they wanted an agency to be able to modify this, they would have explicitly said so

4. Dissent: since the point of the regulation is to break up monopoly of one carrier, making the small guys file is stupid since they’ll be undercut

a. Look at modify in the context that its in

b. Since it’s a technical issue, its exactly the kind of case we want to defer to the FCC

5. Note: This is seen as a really aggressive case

6. Another key: it’s very important to both majority and dissent that to figure out how crucial to the act this provision was

a. If you can say that a regulatory requirement is very central, courts will be reluctant to say its ambiguous and give to an agency

G. Babbitt v. Sweet Home: uses all the available tools to support agency’s interpretation

1. Issue: did “harm” in wildlife protection statute include harming the species’ habitat

a. Agency said that it did, and Court defers to them
2. Ordinary meaning of the word supported Dept of Interior interpretation
3. Challenge: all the words around “harm” are things like hunt and kill – affirmative acts directly to the animals

a. Counter: broader policy aim of keeping species alive
b. Expressio uniis problem: congress addressed habitat specifically in other sections, but didn’t so here – they would have if they wanted to

c. Intent argument for challengers: Congress didn’t mean to protect animals at all costs (like screwing a sympathetic figure like a small farmer)

d. Scalia was irritated that the majority took legislative history and made it into text

4. Majority also read statute as a whole: Congress wanted to prohibit indirect and deliberate takings

H. FDA v. Brown & Williamson Tobacco – majority rules against FDA jurisdiction based on structure and overall purpose without much regard to statutory language (non-delegation kind of idea, same as MCI v. AT&T)
1. FDA said in 1938 they could not regulate tobacco and Congress agreed over the years

a. Agency: circumstances have changed, we know a lot more about intentionality so it’s a “drug” under their organic statute

b. Industry: if its really a “drug”, you have to ban us altogether – not going to happen

2. Dynamic interpretation: dynamics include whole legal landscape

a. Congress is continually treating tobacco as something that is not to be regulated by the FDA and deals with it itself in other ways

b. FDA would say there’s a concern for regulating tobacco, but the counter still is yes, but that’s done by Congress

3. O’Connor makes common sense argument:

a. If Congress is going to delegate such a huge political and economic issue, they’re going to say so explicitly

b. Problem with this theory: industry would probably be pissed if they did, voters might not respond well

4. Breyer: if it’s that important, maybe giving to an agency is a good thing because there will be accountability
a. Ultimately it ends up reflecting on the President

5. This case uses a lot of subsequent legislative history, yet Scalia doesn’t write separately

a. Reason: the text is a loser
XX. The Role of Politics in the Judiciary
A. The Revesz/Edwards debate

1. Revesz: judges vote based on political ideology of the Presidents that appointed them

2. Edwards: judges work collegially to solve issues

a. Methodology was too simplistic

b. Ridiculous that there’s objective political thing to explain how judges vote

c. We have different backgrounds and biases, but when we work together we can meet in the middle and try to find the best answer

3. Sen. Schumer: no ideologues and he wants diversity

4. It does seem to work the way Edwards says

a. In polite company, everybody performs the role – nobody is outwardly doing anything you don’t think judges will do

5. For the most part, they’re all trying to pursue a legal answer

6. But remember – arbitrary and capricious kind of a free wheeling thing

a. If judge shares underlying vision of one side or another, they’ll look at one side and say of course that makes sense
XXI: Overview: How to Attack Agency Decision

When you’re challenging what you think an agency did was wrong, in the order Barkow thinks about them

1. Did the agency do something that the Constitution doesn’t let them do?

a. Have they been delegated too much?

b. Usually a real tough argument to win

c. More likely to come in as a canon to see if they have legal authority

d. Have they been given authority to adjudicate they shouldn’t be adjudicating (like adjudicating a private right of action – is that okay?)

e. Challenge removal provision of it restricts Presidents power too much

f. Barkow doesn’t think about due process in this category

2. Does the agency have statutory authority? This is the Chevron question

a. Even if its okay under the Constitution

b. The agency still has to act within the statute

c. Are they interpreting the statute in a way that the law will allow them

d. Step 1: what does the statute allow them to do – what is the right interpretation, is it ambiguous or not

e. In Step 1, go through everything we learned about with statutory interpretation – language, purpose, intent, canons, etc. (both sides)

f. You’ll never know if you’re going to win at step 1

g. Assuming arguendo its ambiguous – step 2

h. Can the agency do this? Have they come to a conclusion that’s reasonable under the statute?

i. Might not be clear what the statute means, but it cant be what the agency is saying

j. We can assume Chevron applies to everything in this class – there is in reality a question if it applies to informal adjudications

3. There’s always the catch all – has it just made a policy decision and hasn’t explained itself right

a. Hasn’t considered everything it’s supposed to

b. Hasn’t explained itself fully

c. A&C standard of review – applies to every agency action unless organic statute says otherwise

d. This is the same thing as “hard look”

e. All of this just means what you do when you do a & c review – court gets to do stuff like making sure procedures were followed correctly, agency looked at everything they should

f. You could also make the argument that there aren’t facts to back what the agency has done

i. Can always apply to informal proceeding

ii. If its in a formal proceeding – look at substantial evidence test

iii. As a practical matter, they’re often administered the same way

4. You can also challenge agency procedures

a. Agency didn’t go about procedures the right way

b. They didn’t put it in Federal Register, no opportunity to comment – basically the statute requires formal procedures and the agency didn’t do what they’re supposed to do under APA

5. You also might be able to make a due process challenge

a. Is there a property interest? Apply entitlement test

b. If yes, what procedures are you entitled to under Matthews balancing test
